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efJe<eÙe : ke=âef<e
Subject : Agriculture

meceÙe : 3 Iebšs] [hetCeeËkeâ : 100
Time : 3 Hours] [Maximum Marks : 100

efveoxMe : (i) meYeer ØeMve DeefveJeeÙe& nQ~

All questions are compulsory.

(ii) ØeMve ›eâceebkeâ 1 Jemlegefve‰ ØeMve nw~ FmeceW KeC[ (De) SJeb KeC[ (ye) nQ~ ØelÙeskeâ KeC[ ceW 5 ØeMve

nQ leLee ØelÙeskeâ ØeMve hej 1 Debkeâ DeeJebefšle nw~

Question No. 1 is an objective type question. It has Part (A) and Part (B). Each

part contains 5 question and each question carries 1 mark.

(iii) ØeMve ›eâceebkeâ 2 mes 6 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 2 Debkeâ DeeJebefšle nQ~ Gòej

keâer DeefOekeâlece Meyo meercee 30 Meyo nw~

Question Nos. 2 to 6 are very short answer type questions. Each question

carries 2 marks. Maximum word limit of answer is 30 words.

(iv) ØeMve ›eâceebkeâ 7 mes 11 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 3 Debkeâ DeeJebefšle nQ~ Gòej

keâer DeefOekeâlece Meyo meercee 50 Meyo nw~

Question Nos. 7 to 11 are very short answer type questions. Each question

carries 3 marks. Maximum word limit of answer is 50 words.
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(v) ØeMve ›eâceebkeâ 12 mes 18 lekeâ ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve ceW Deebleefjkeâ efJekeâuhe nw~ ØelÙeskeâ

ØeMve hej 4 Debkeâ DeeJebefšle nQ~ Gòej keâer DeefOekeâlece Meyo meercee 80 Meyo nw~

Question Nos. 12 to 18 are short answer type questions. Each question has an

internal option. Each question carries 4 marks. Maximum word limit of answer

is 80 words.

(vi) ØeMve ›eâceebkeâ 19 mes 23 lekeâ oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve ceW Deebleefjkeâ efJekeâuhe nw~ ØelÙeskeâ

ØeMve hej 5 Debkeâ DeeJebefšle nQ~ Gòej keâer DeefOekeâlece Meyo meercee 130 Meyo nw~

Question Nos. 19 to 23 are long answer type questions. Each question has an

internal option. Each question carries 5 marks. Maximum word limit of answer

is 130 words.

(vii) ØeMve ›eâceebkeâ 24 SJeb 25 oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve ceW Deebleefjkeâ efJekeâuhe nw~ ØelÙeskeâ ØeMve

hej 6 Debkeâ DeeJebefšle nQ~ Gòej keâer DeefOekeâlece Meyo meercee 180 Meyo nw~

Question Nos. 24 and 25 are long answer type questions. Each question has

an internal option. Each question carries 6 marks. Maximum word limit of

answer is 180 words.

(KeC[-De)

(Part-A)

ØeMve—1. mener efJekeâuhe Ûegvekeâj efueefKeS : 1×5=5

Choose and write the correct option :

(i) efvecveefueefKele ceW mes keâewve mes Jeceea-keâcheesmš kesâ ueeYe nQ ?

(De) efceóer keâer yeveeJeš ceW megOeej

(ye) peue OeejCe #ecelee

(me) keâšeJe keâce keâjvee

(o) Ghejesòeâ meYeer

Which of the following are benefits of vermicompost ?

(a) Improve soil texture

(b) Water holding capacity

(c) Reduce erosion

(d) All of these
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(ii) ßeer (SRI) efJeefOe ceW KejheleJeej efveÙeb$eCe kesâ efueS efkeâme GhekeâjCe keâe ØeÙeesie efkeâÙee peelee nw ?

(De) jerhej

(ye) keâesvees Jeer[j

(me) osMeer nue

(o) jesšjer Jeer[j

Which equipment is used in SRI method for weed control ?

(a) Reepar

(b) Cono weeder

(c) Desi plough

(d) Rotary weeder

(iii) kebâyeeFve neJexefmšbie ceW efvecve ceW mes keâewve-meer keâšeF& keâer Øeef›eâÙee veneR nw ?

(De) keâšeF&

(ye) LeÇseEmeie

(me) {gueeF&

(o) efheeEkeâie

Which of the following is not a harvesting process in combine harvesting ?

(a) Reaping

(b) Threshing

(c) Transportation

(d) Picking

(iv) keâeÙe&mLeue hej KelejeW keâes jeskeâves kesâ efueS efvecveefueefKele meeceef«eÙeeW keâes megefveefMÛele efkeâÙe peevee

ÛeeefnS ?

(De) Sme.[er.Sme.

(ye) ØeeLeefcekeâ efÛeefkeâlmee efkeâš

(me) megj#eelcekeâ keâheÌ[s

(o) Ghejesòeâ meYeer

(3)
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To prevent hazards at working place following materials should be ensured ?

(a) SDS

(b) First aid kits

(c) Protective clothing

(d) All of these

(v) keâeršveeMekeâ efJe<eeòeâlee kesâ meeceevÙe ue#eCe nQ :

(De) mejoo&

(ye) Gušer nesvee

(me) meebme uesves ceW hejsMeeveer

(o) Ghejesòeâ meYeer

Common symptoms of pesticide poisoning are :

(a) Headache

(b) Vomiting

(c) Difficulty in respiration

(d) All of these

(KeC[-ye)

(Part-B)

ØeMve—1. efjòeâ mLeeveeW keâer hetefle& keâerefpeS : 1×5=5

Fill in the blanks :

(i) .................. Jen neefve nw pees Heâmeue keâes keâešves kesâ yeeo peceerve hej jKeer peeleer nw~

________ is the loss that occurs when crop is laid on the ground after cutting.

(ii) šsueerHeâesve Skeâ .................. GhekeâjCe nw~

A telephone is an ________ device.

(iii) PPVFR keâe hetCe& ™he ............... nw~

The full form of PPVFR is ________.
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(iv) yeepeej Meyo keâer Glheefòe ................ Yee<ee mes ngF& nw~

The word market is derived from the ________ language.

(v) Yeejle ceW yeeefjMe keâe meyemes yeÌ[e Ùeesieoeve ............... nw~

Rain in India is having contributed by ________.

ØeMve—2. š^eFkeâes[cee& efJejer[er keäÙee nw ?  2

What is trichoderma viride ?

ØeMve—3. keâšeF& efkeâmes keânles nQ ? 2

What is harvesting ?

ØeMve—4. keâeršveeMekeâ keäÙee nw ? 2

What is pesticides ?

ØeMve—5. yeepeej keâes heefjYeeef<ele keâjW~ 2

Define the market.

ØeMve—6. mebÛeej keäÙee nw ? 2

What is communication ?

ØeMve—7. Oeeve kesâ Yetmes keâes peueeves mes nesves Jeeueer neefveÙeeW keâes efueefKeS~ 1×3=3

Write the disadvantages of burning of rice straw.

ØeMve—8. osMeer nue keâe veeceebefkeâle efÛe$e yeveeFS~ 3

Draw a labelled picture of a country plow.

ØeMve—9. megjef#ele Yeb[ejCe ØeCeeueer kesâ leerve cenlJe efueefKeS~ 1×3=3

Write three importance of safe storage system.

ØeMve—10. owefvekeâ yeepeej Deewj meehleeefnkeâ yeepeej keâes heefjYeeef<ele keâjW~ 1½+1½=3

Define the daily market and weekly market.

ØeMve—11. mebÛeej kesâ leerve cenlJehetCe& Yeeie keâewve mes nQ ? 1×3=3

What are the three important parts of communication ?

ØeMve—12. Oeeve kesâ hegDeeue keâes meÌ[ves ceW DeefOekeâ meceÙe keäÙeeW ueielee nw, efueefKeS~ 1×4=4

Write why the paddy straw takes long time for decomposition.
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DeLeJee / OR

Fveeskegâuece keâe GheÙeesie keâjkesâ Keeo lewÙeej keâjves efkeâ efJeefOe efueefKeÙes~

Write the method of preparation of manure using inoculum.

ØeMve—13. efyeÙeemeer efJeefOe ceW GheÙeesie nesves Jeeues Ùeb$eeW keâe JeCe&ve keâjW~ (keâesF& Ûeej) 1×4=4

Describe the instruments used in Biyasi method. (Any four)

DeLeJee / OR

ØelÙeejesheCe ceW Deblejeue Yejves keâer efJeefOe keâes mecePeeFS~

Explain the method of gap filling in transplanted.

ØeMve—14. cewvegDeue keâšeF& kesâ ueeYe Deewj neefve efueefKeS~ 2+2=4

Write the advantage and disadvantage of manual harvesting.

DeLeJee / OR

cewvegDeue keâšeF& Deewj cewkesâefvekeâue keâšeF& keâes mecePeeFS~

Explain the manual harvesting and mechanical harvesting.

ØeMve—15. ke=âef<e jmeeÙeveeW mes nesves Jeeues efJeefYevve Øekeâej kesâ neefvekeâejkeâ ØeYeeJeeW keâes efueefKeS~ 1×4=4

Write the various types of harmful effects of agro-chemicals.

DeLeJee / OR

ke=âef<e-jmeeÙeve keâe GheÙeesie keâjles meceÙe keâewve-keâewve meer meeJeOeeefveÙeeB jKeveer ÛeeefnS ?

What are the precautions to be taken while using agro-chemicals ?

ØeMve—16. efvecveefueefKele hej mebef#ehle efšhheCeer efueefKeS : 2+2=4

(De) «eer<ce keâeueerve pegleeF&

(ye) mš^e@ ceefuÛebie

Write short notes on the following :

(a) Summer ploughing

(b) Straw mulching

DeLeJee / OR

efvecveefueefKele hej mebef#ehle efšhheCeer efueefKeS :

(De) ceevemetve keâer Meg®Deele ceW osjer

(ye) ceevemetve keâer peuoer Jeehemeer

Write short notes on the following :

(a) Delayed onset of monsoon

(b) Early withdrawal of monsoon
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ØeMve—17. ke=âef<e meueenkeâej mesJeeDeeW ceW Deeceleewj hej GheÙeesie nesves Jeeues lekeâveerkeâeW keâes efueefKeÙes~ 1×4=4

Write the techniques commonly used in agricultural advisory services.

DeLeJee / OR

peue mebj#eCe keâer efJeefYevve lekeâveerkeâeW keâe meb#eshe ceW JeCe&ve keâjW~

Briefly explain different water saving techniques.

ØeMve—18. mebÛeej ceW yeeOee Glhevve keâjves Jeeues keâejkeâeW keâes efueefKeÙes~ 1×4=4

Write the factor affecting the communication.

DeLeJee / OR

Øeefleef›eâÙee keâer efJeMes<eleeDeeW keâes meb#eshe ceW efueKeW~

Write briefly the characteristics of feedback.

ØeMve—19. efyeÙeemeer efJeefOe keâes mecePeeFS Deewj Fmekesâ ueeYe efueefKeS~ 2+3=5

Explain the biasi method and write its advantages.

DeLeJee / OR

keâesvees Jeer[j efkeâmes keânles nQ ? Fmekesâ keâeÙe& keâes efueefKeS~

What is cono weeder ? Write their work.

ØeMve—20. FbšjkeâuÛej mes Deehe keäÙee mecePeles nQ ? Fmekeâe cenlJe efueefKeS~ 2+3=5

What do you understand by interculture ? Write its importance.

DeLeJee / OR

ØeeLeefcekeâ Yet-heefj<keâjCe keäÙee nw ? FmeceW GheÙeesie nesves Jeeues Ùeb$eeW kesâ veece efueefKeS~

What is primary tillage ? Write the name of the instruments used in it.

ØeMve—21. ÛeeJeue keâer keâšeF& keâer GefÛele DeJemLee Deewj meceÙe keâe JeCe&ve keâerefpeS~ 1×5=5

Describe the proper stage and time of harvesting in rice.

DeLeJee / OR

GefÛele LeÇseEmeie keâjves kesâ efueS efkeâve-efkeâve yeeleeW keâe OÙeeve jKevee ÛeeefnS ?

Write down the guidelines on proper threshing.

ØeMve—22. kebâyeeFve neJexmšj efkeâmes keânles nQ ? Fmekesâ keâeÙe& efueefKeS~ 2+3=5

What is combine harvester ? Write the function of it.

DeLeJee / OR

cewvegDeue neJexeEmšie keäÙee nw ? cewvegDeue neJexeEmšie kesâ ueeYe efueefKeS~

What is manual harvesting ? Write the advantages of manual harvesting.

ØeMve—23. hewje ceMe™ce Glheeove keâer efJeefOe keâe JeCe&ve keâerefpeS SJeb Fmekesâ ueeYe efueefKeS~ 3+2=5

Describe the method of paira mushroom production and write their benefits.

DeLeJee / OR

Jeceeakeâcheesmš yeveeves keâer efJeefOe keâe JeCe&ve keâjW SJeb Fmekesâ ueeYe efueefKeS~

Describe the method of making vermicompost and write its benefits.
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ØeMve—24. mš^e ØeyebOeve keäÙee nw ? Oeeve kesâ mš^e kesâ ØeyebOeve keâer ØecegKe efJeefOeÙeeW keâe JeCe&ve keâerefpeS~ 2+4=6

What is straw management ? Describe the main method of rice straw

management.

DeLeJee / OR

hew[er mš^e keäÙee nw ? Oeeve kesâ hewje keâe jemeeÙeefvekeâ iegCe efueefKeS~

What is paddy straw ? Write the chemical properties of paddy straw.

ØeMve—25. efvecveefueefKele keâe JeCe&ve keâjW (keâesF& leerve) : 2+2+2=6

(De) yeerpe keâer meHeâeF&

(ye) yeerpe ßesCeerkeâjCe

(me) yeerpe Megælee

(o) m›eâereEveie

Describe the following (any three) :

(a) Seed cleaning

(b) Seed grading

(c) Seed purity

(d) Screening

DeLeJee / OR

efvecveefueefKele keâe JeCe&ve keâjW (keâesF& leerve) :

(De) yewie YeC[ejCe

(ye) Leeskeâ YeC[ejCe

(me) ncexefškeâ YeC[ejCe

(o) hueeefmškeâ keâesšs[ meghej yewie YeC[ejCe

Describe the following (any three) :

(a) Bag storage

(b) Bulk storage

(c) Harmetic storage

(d) Plastic coated super bag storage

——


